duaﬂy ‘lI'ﬂp‘]'ClVe in chﬂdren Whﬂl
above argument points primarily tow

cal we lose out on the social
h regards to gender, ethnicity,

anation of (A).
explanation of (A).




ange in cogrnitione

ag@t = Iy |5 d e roc = f 2 Naent anle
581 ed T—‘ha h p Oce S 0 EaArning I8 dene naen Olel
iSO DENdent Shile Y . on

Renson { ) o
R i Deveal ment is 5 o
Chioss Pment i result i'interac ion bety i
. ; e ol etween hcrudﬂy and environment.

(1) Both S
" thh ‘!:; ::j :::l} are trie and (R) is the €orrect explanation of (&)

are true but (R) e s i :
(3) (a) is true but (R) is false, e !_s_m’t T o N
(4) Both (A) and (R) are false
e () sﬂaﬁmamﬁm@&aﬁ@ﬁ@wmwﬁmwﬁi

~ (1) [Ajaﬁttnjﬁﬁﬁaﬁ%ﬁmmﬁ(mﬂﬁﬂmm%l

2) IA)m(R]ﬁ@%%{A]'ﬁ{R]ﬁmqﬁm.%l
(3) (A) ¥t & = (R) Tom 2

(4) (A) 3R (R) 31 7o 2

drerieannot handle new €xperience with
— and resort to

3. According to Jean Piaget, when chil in their existing

cognitive structures, they experience -

(1) disequilibrium; adaptation
(2) disequilibrium; internalization
(3) dissonance; adaptation

(4) dissonance; internalization

« (1) STHGT; STTEE
(2) HHGEH; HTARFHR

(3) sTfd; IR
(4) Haf; ATaiHFR
| PT.O.

DET-24-11 (L)



DE'

taas hildren

srakey o
‘--,_.n'-::'\-:'i*-.

6. While Piagel views children as - Vygt
(1) active in manipulating ideas: pASKIVE in social
(2) actve in manipulating idean; AcUVE in adeial Foniexts

| ,f1.;~.1_r-:|(tq

deaa; ACEN goCHa

(3) pasteive in manipulating 1
--_nr\'f!\‘?*-
ideas; PE &

e i i
L L

(4) passive in manipulating

st formd w=d W B, 9
(1) faram & ufra W =l F =1
2) fredt % =l okt Al & F
(3) fammt & RS woEr & TN

) et ¥ R v ¥ & § 7 e

e AR

Ling the sta&® il NS,

7. What is/are the basis/bases for determi

Kohlberg's theory?

(A) Age of the individual .
(B) Answer given by the individualﬂforfagainst stealing
(C) Reasoning underlying the individual’s response

Choose the correct option.
(1) Only (B)

(2) (&) and (C)
(3) (A) and (B) ~
Eﬁ“ﬁm%ﬁ%ﬁﬂﬁﬁﬁﬁﬁﬁmzﬁ ga@n%ﬁm’t{mm,l?f e 2[R

e AR
it :

5% cognitive development is—

Vygotsky, the essence OF
of psychological tgols.

8. According 1o Lev

(1) mastering the use

(2) learning to adapt to the environment.”

(3) identifying how to respond 1o cognitive. gonflict.
herent wl';ole;

(4) organizing schemes into ¢0
mmﬁm,wmmﬂ%ﬁj
(1 nﬂmﬁﬁm%wi&mmﬂm-ﬂil |
(2) i % g we e |

(3) AT 38 T Nt R T

(4) At ) gaTa A & wfen F

pET-24-11 (L)




9. According to Lev Wygotsky, Blavisl &
i o FRFAL AN esssntinl ol
through the zone of proximal development e iy

Iping learnera’ sroarens
(1} physical environment
f25' more k?h"“'h?\":g(\;.;_h]r. others
(3) maturation
(4) positive reinforcement
A8 TSR & orEn, e Y i B fm ¥ mem & o # n ey &
,{\&?’? g' Ty T L g £ S
(1) e wiam
y (2) FEF TEER 33
(3) TREwal
(4) TFRTE eI

10. Howard Gardner proposed that intelligence
{1) can be differentiated into multiple kinds.
{2) is influenced only by genetics and not by environmental factors.

{3) is dominantly about recall and memerization.
(4) is primarily about emotional learning.

#iad mEw 3 wetEa e e :

(1) % 3w s SR i fRn o §

(2) S SR B R A &, ST S 2
(3) FE WA EA M@ FMATAY

(4) T T & A AW F AR A R

11. What is progressive education?
(1) An approach to education that emphasizes discipline and rote memorization.

(2) An approach to education that emphasizes individualized learning and student-centered

classrooms. __
(3) A method of teaching that emphasizes:strict adherence to standard curriculum.

{4) A method of teaching that emphasizes rrfapximum use of technology and multimedia in the
classroom, d

st fiten 7o &7

(1) ﬁm%m@m,ﬁwmm#@'ﬁsﬁﬁmm

(2) e % w e, s =i e o BRIERA Fanel g 2 R

(3) e i vz fafl, sh A vew=El F wed v WS EE R

(4) o 51 o wle, 51 Fa S sh ednifen § sftwen Iwm TSR @R

[ P.T.O.
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12. Read the following statemes
Assertion [A) :

Participative in

Reason [R) : Given their oemeric

Miprehend ang
1le } |
Cheose the correet sption
(1} Both {A) and (R) are trie dnd (R} is thesearrecs explanation of (A)
(2) Both (A) and (R) are true but (R) is nat ths SOTTEct explanation of (&)
(3] (A) 15 true but [(R) is false
(4) Both (A) and (R) are false
Rt wuE =) wfag
@ﬁgm {A) : Tenfis f?r—:g:::-g.—; 0 =rEfeyt IFAT HY AT 2 ol o R A e B = & 11 o A Y
ﬁ! i Bl TR
w1 (R) P TR W W) A pu wafyal TS Rrretel & it orressrmpet FT T 3 e
A 1 1 Gar 747 3 =
w8 e %1 w9 Hif
(1) {A) 3 (R) 591 9@t & au (A) #1 (R) 6) =i 5 2
(2) (A) 3R (R) 241 w8 2 S (A) 1 (R) wdt zamen 1ff s -{
(3) (A) w8 2 @A (R) 7o 2
- (4] (&) 3R (R) 251 T §
13. The nature of assessment should be _ 4n4 assessment tasks should be
(1) dynamic; authentic (2) objective; standardized =
(3) dynamic; standardized

(4) objective; authentic
mﬂmhmwmmwim B0 |
« (1) TfeEier; S (2) T5fE; A
(8) Tieefter; T (4). Fx3fm; it
14. Read the following statements - '

Assertion (4) : It is advisable net ¢

0

assessment for learning,
Reason (R) : ég;:;:&-referenced testing, scores are compared to a Set performan
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false, = |
(4) Both (A) and (R) are false,

Frefefian et ) ufem .

rely: on standardized tests

while conductin

L

"(1) (A) ¥ (R) 2wl & qu (A)
(2) (A) & (R) 21 5 £ wifi

» (3) (A) 9 & 9fF (R) T 3

(4) (A) ofe (R) @i 77 #

1 (R) 7d) s e 3,
(A) ¥ (R) ue SRS T e &




B queﬁtiun th
definiy; At Promgy
on ©5 anajyy. ;
(2) Explain e of a mamma]lp Ylica) skillg jpy Studentss
<y Characteria:
3 nstcs of Mamfy
(3) How, haye = als;

(4)

F [
B 2, S ﬁ%&‘aqcpm. - L e lextbool,
e ' \

“ﬁﬂﬁaﬁmam?
(2) WW%wg{qwﬁaﬁmmaﬁrﬁm
(3) SRy y ST B 1T % fore 39 SFERE 37
1 (4) %ﬁﬁqwmm%ﬁmmﬁﬁt-ﬁmm|

16. Read the following statements :
Assertion {A) :
Reason (R)

An inclusive classroom dees ng
: Inclusion is a policy that-stres

learning goals, strategies and
Choose the correct option. —
(1) Both (A) and (R) are true and (R)

is-the correct explanation of (A).
(2) Both

{A) and (R) are true but (R) is-m::'t":' the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
Ffafan Foet 1 ufew
fie (A) : %Hﬁﬁwﬂmmﬁﬁﬁaﬁ%ﬂmﬁﬁ?ﬁwm%l

T (R) R T A R, R e e, TR o i R ) T
Gﬁlﬁﬁmiﬁi'%?ﬂ%f _——

e oy F1 999 Fifvm)

(1) (A) 3t (R) 2 ¥ & 7 () 1 (R) e )

(H1

AP

(2) (A) 3R (R) <1 & @ (A) A (R) 58 =arem 78 560 2
(3) (A) HEl ¢ AFHT (R) 7TeTd 21
(4) (A) ¥R (R) @i 7Terd &1
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=i

£}

o

(%)

difficulty

(B} brail

(3) Only

o 1 oo cOna
(3 iflastral
(4] is & hin

2
2 '?,.T_g._l‘ﬁﬁ, o =

18. Ex amples of

o g 8T SEEM a3 fx afipm- s Bl % HEE 'z
2 i wmmETe ) W= wE # w7
oo & HIARINTER R F STET B

P WizE WU AR Raw )

sgm Sl %) 98 TEEH aye smfte § = R

s
STETIAT = Hh B2 =

)y THEY

sz include—

peaple fret language Sl h as
af Tearning disabled students’

the empliasis from digahilities

see with the human right=a a:-1'-T--'1r.H to in

~ator the emphagis on medical model

drance in correct identification arid labelling of ped

assistive technological devices to cater to

veirg the

and is ot in the true apirit ol inclusion
r 1 BIOTE
af disability

yple with disabilities

i aerei] e v’ WEOEA W IR A

needs of children with visual

(A) alternative computer input devices.

le embosser and displays.

(B} and (C)

(C) speech recognition software (speech to text).
(D) use of sign language.

Choose the correct pption.
(1) Only (A}, (B) and (C) (2) Only (B), (C) and (D)

(4) (A), (B), (C) and (D)

Wﬁﬁwﬂﬁwﬁ%hmwﬁﬁ%a@ﬁmwﬁaﬁ?
() FFfq® TR TG ST

(B) 3= T o T
(C) 37 TEEH TR (NI H 913)

(D) Hia®

ST 1 FA

o# famen 71 =94 Fi |

. (1) &3 (A)
(3) #4a (B)

DET-24-11 (L)

. (B) e (C)
#r (C)

(2) ¥ (B), (C) ¥R (D)
{4) (A), (B), (C) ¥ (D)

19. To support inclusion of students with autism, it is advisable to—
(1) avoid giving visual support and visual cues.
fi} create _a classroom setting that is overstimulating.
f4] form an unstructured setup with random routines.
( J_ use concrete, literal and consistent language,
ﬁfﬂwm ﬁﬁﬁmﬁﬁkmwwm%m, Tl I A A g
{_ FO-Ha 7Eg ol wEm B @ 5= iy
2) T T v
A1 =y 1 frenfd % SR ECH
(3) éﬁ"lﬁ%ﬁ?ﬁqﬁ F WA T o o
. (4) 3, :

T UF SegEfen faam = owe Th)
1 FAM N SR



f-directed learners in,a copstruchvig

I
¢+ students in becoming S&
dents te outperform each otheg

ack and grades:ito motivate Sni ik
rning ta \

e E;:hljra for their own learning and de"ﬁ'lop.

st L

z3. How can teachers suppor

classroom?

(1) By providing frequent feedb
(2) By setting explicit goals and objec
(3] By encouraging students to take respon

self-regulation skills

tasks
(4) By providing detailed and prescriptive: mstrucuons for all:r;;rg:ng
% FrEATETE! m&nﬂﬁwwﬁaﬁw-ﬁaﬁmﬁwﬁﬂﬁﬂﬁ el 1R Te WEH Hh
(1) BE ) TF- Wﬁﬁmwﬁﬁ@mﬂﬁ%w
(2) =t g % Tl & fou wgp @i ol : wrE
(a) ST T v Tt % s R i R O R SR

(4) ¥t T F w3 R fregg =it Rl Few TEH F0h

24, Read the following statements :
Assertion (A) : A middle school teacher keeps in regular tou

of her class to understand them better.

Communities should d:rect how and what the children should learn.

ch with the parents of students

Reason (R)

Choose the correct option. F
(1) Both (A) and (R) are true and (R) is t"h'e' correct explanation of (A).

(2) Both (A) and (R) are true but (R) is nnt the correct explanation of (A).

(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

fafoias o1 =i gfeu -
wmwﬁmﬁwwﬁﬁﬁimaﬁam%wﬂﬁmmﬂm%mﬁm-ﬁm

afirrem (A)
% w1y Tafim 99 3 @ 2|
; WEEHI W g FeRm s =iy B a=t W % o = den =)

TR (R)
Tel faweq #1997 Fifem

+ (1) (A) 3K (R) <1 5t & T (A) A (R) & == @ )

(2) fA:amméHha%é’rf%ﬁmlaﬁmlaﬁwqam%n

+(3) (A) FE & S (R) e 2
(4) (&) M (R) 3 o7 &1 -—7-_5_1

25. In order to advance problem-solving skills ﬂf‘learners teachers should encourage

should promote thinking among leamers

(1) belief perseverance; reciprocal s
(2) functional fixedness; divergent =7
(3) means-end analysis; convergent £ Rs

(4) verbalization; analogical

ﬁrmﬁfﬂ%mwﬁmﬁﬁmm%fmmﬁﬁaﬁ 1 e e stk ol e %
ﬁ%ﬁmhml

+ (1) T g, et 3

(2) Frfers far; smam

(3) -39 farverym; arftrar

(4) e, W

DET-24-I1 (L) 10
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26. In discovery learning, students—

ET-24-11 (L)

1)

(2 derive information for themselves through exploration and manipulation of ideas.
(2) f;;;sslsmnﬂy make new discoveries i in the world through exploration and manipulation of
(3) derive information for themselves through rehearsal and extended practice.

(4) make new discoveries in the world thmugh rehearsal and extended practice.

HA AR § mE_ —

(1) f=mt # @i Gﬂtﬁ%mmﬁm%ﬁmmmm%l

-(2) ﬁﬁlﬁﬁ@‘@ﬁﬁ%{%{#mmﬂgﬁmﬂmqﬁ@aﬂ%%

(3) T N e syeme ¥ mean @ A _fet, STl R )

(4) TP S feaiit e % mom @ 5P T @ ww §

27. Realizing that he is not paying attention in the science class and hence he is unable to
understand the concepts, Ramesh decides to sit at the front so that he can focus attention

better. Which learning strategy is Ramesh using?
(1) Rehearsal

(2) Metacognition g
(3) Scaffolding

(4) Mnemonics

I8 WEHH Fd gU ﬁqaﬁﬁﬁmmﬁﬁmaﬁ%m% 3R sEfT 98 Ty ) wuee o oend 2, W wen &
mﬂﬁ%ﬁmmm%mﬁ%aﬁm%&ﬂmwlﬁmm@ﬁﬁ%ﬁwﬁﬁmmﬂﬂmmé?

(1) FemE £
' (2) st
(3) e ;
(4) wfo-wemes faftat

28. Which of the following statements about emotions is correct in context of cognition?

(1) Emotions facilitate encoding but have no impact on attention.
(2) Emotions help in efficient retrieval of information but do not influence motivation to

learn.
(3) Emotions modulate various aspects of "&ogmnorx however, degree and direction of effect

depend on a range of factors. o
(4) Impact of emotions on learning is always univalent and has a positive effect only

irrespective of the nature of emotmﬁ' nd

m%mﬁﬁmﬁ%aﬁﬂﬁ%ﬁﬁ%mﬁﬁ

" wﬂwx@@ﬁmﬁWW% AR 31 S 1 e T wE A v B

(2) mmﬁWMﬁmmhﬁ%W%Mﬁmﬂﬂmqﬁmﬁ%u

Y (3 ﬁm%%mﬁﬁmm ma‘rﬁasaﬁzmﬁ:rm ali R =gd | FRR W Rk

|

(4) ST T A F G T v A 2 oh Rem o wER ) e R, 9 S R
HHRIHS 99T TeaT 2|

11 *RT.0,



30. Which of the following statem

L \6® {

i ] insi Tvati in t St 2 :
29, How can teachers increase intrinsic motivation 1 the students ; \\”}’
‘\"y .
%E}

(1) By giving ‘removal punishmcnt'
{2) By giving ‘negative rein[orcement’
(3] By offering ‘rewards and prizes’ _' C}_._‘}

(4) By inculcating joy of learning
foreres T T AT SN BY e e 87
(1) ‘foet T ) TR A S i
(2) IO e S
(3) ‘T 3 IEER S

(4) ‘Hra SR =

ents correct__i;,r_g__ﬂ.escribes the relationship between intrin

sic and

extrinsic motivation?

ofivation are mutually exclusive; individuals cannot

(1) Intrinsic motivation and extrinsic mod
be motivated by both at the same tim

tivation can impact extrnsic motivation, but extrinsic motivation cannot

(2) Intrinsic mo
in any pgés_;i?le manner.

impact intrinsic motivation
(3) Intrinsic and extrinsic motivations can both impact an individual’s behayiour, but they
operate independently of each other.
(4) Intrinsic and extrinsic motivations can.interact with each other in complex ways, with one

e of motivation affecting the others =

St B B -9 T AR 3 A mﬁﬁ%?ﬁaﬁéumﬁaavhm%?

(1) :gmf(q%fﬁm wﬂ@ﬂﬁhmmm%mﬁﬁﬂaﬁ@ﬁmﬁwﬁmqﬁﬁmm

. @) i SN S S ) g o EE B, AR ST e b o Sefe s R S

mﬁﬁiﬂﬂﬁﬁﬁﬁmm%
s @i T S s
{S}mﬂmﬁ%i M 2 ey s 3 SRR ST WD B, A A v A i w08

@) __mqmmn-@%maﬁaﬁﬁm:ﬁmmm%,m%m@emm

o
&

o411 (1)
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